PROFESSIONAL EXAMINATION
. | BOARD
Professional -
@bgé%rpc}notion Middle School Teacher
Eligibility Test — 2018
24th Feb 2019 02:30 PM

Topic:- Child Development & Pedagogy (CDP)

1) Bipolar disorder is which type of disorder? /

feydt fier (aguier fERITE) foy yoR &1 faer 72
1. Mood / TG (48)

2. Learning / 3{fRTH

3. Personality / Sfdda

4. Thought / faaR (die)

Correct Answer :-

« Mood / TG (I3)

2) Which of the following best describes the Theory of Mindset? /
fFrafafad 9 @ $9-1 aFRed & Rigia $1 99 33T quiF w1 82

1. Fixed mindset stops cannot be changed / fRRR AFfa®dr favm (Irtbor%ls RIS v&c\llu) P SGal Tal off
REIE

2. Fixed mindset only brings failure / fRR AFRYear (redrs AIs<de) Had SHAT ool g
3. Growth mindset defines Intelligence /Eﬁ?{ﬂﬁﬁﬂﬂﬂ, g@aﬁﬁwﬁam%

4. Growth mindset sees failure as a minor stumbling block, an opportunity to improve and grow. /Fﬁ@'

AHRIGT, B B T A SHIAC & U H Gadl 8, GUR 3R [THRId g &7 3f@awR &l ¢

Correct Answer :-

e Growth mindset sees failure as a minor stumbling block, an opportunity to improve and grow. /Eﬁg

ORI, SIHAd &I Th ARG $HIAC & F9 H GHdl 8, GURA SR faHRid g &1 3/awR <ot 81




3) Which of the following is a social-learning theorist? /

frufafaa & & o9 wo amfoe-Rian Risida o2
1. Bandura/ SigT

2. Freud/ PIUS

3. Wundt / g0C

4. Pavlov/ UTadld

Correct Answer :-

« Bandura/ Sg3T

4) Ruhi; an 11-month-old child calls every white liquid object as milk. Which

element of the concept development process is shown by Ruhi?/

8111781 F 9=t { 3R 98 TAS Fibe aRa a%g I gY BEdl ¢ 1 Tl gRT auRon fasr ufsar
@1 S T WTpfac WHTT feamar T 82

1. Analysis /ﬁnéw

2. Abstraction / GrI'E[WUT

3. Generalization / JH-IH U]
4. Experience / AJHd

Correct Answer :-

« Abstraction / \’AWUT

5) Learning is generally considered a lasting change in behavior based on:/

IrHT=ad: A, fA wR enenfyd soagR A ve Wit uf¥ad= AT ST 8:
1. Challenge and reinforcement / E\Fﬁﬁm 3R flﬁm

2. Challenge and experience / ﬂ:ﬁﬁ'q'[ 3R 3{JHd

3. Practice and experience / 3{¥TH 3R HJHdI

4. Practice and challenge / 3{¥TY 3R ﬂ:ﬁﬁfm

Correct Answer :-

« Practice and experience / (¥ 3R HJHd

6) The concept of “inner speech” was introduced in language development by: /



YT & AT § “3iae HIVUI” &1 SGYURUIT 39 GRT RYH P 18 A:
1. Piaget/fﬁﬂT@f
2. Chomskyﬁl'vl'l-'\‘?fﬁ

3. Vygotsky /ATSTIoTa!
4. Skinner /RHTR

Correct Answer :-

» Vygotsky /AT D

7) Algorithms and Heuristics are the strategies of ./

Fo fafy (Tenfan) ofik swor (gghfeswm)___ &t worifaa €
1. Teaching / TRI&f01

2. Problem Solving / HIT HHIYTH

3. Learning / 3{TRTH

4. Thinking / f&d=

Correct Answer :-

« Problem Solving / HHIT JHIYUTA

8) Which of the following statements is true? /

[BUINITCRE AR K3 CAIE RS

1. Growth is only a mental process / 3G Had T ARG Ul gl

2. Heredity doesn’t affect the learning process. /3{IaiiRrddT, SRATH Ufehar &1 guIfad g dedl g

3. Development is only a quantitative process /f[d®T, %dd U AEHATHS Ui g |

4, Learning is a process of behavioral changes / STH e S DIRCREIEAR IR %I

Correct Answer :-

 Learning is a process of behavioral changes / 3HfERTH WIGE'W uftad=i &1 ufshar %I

9) The ability to apply a given general principle to a particular situation is called ./



W%%ﬂwuﬁ@:ﬁﬁﬁﬁqwmﬁ@aaﬁmmﬁﬁmﬁ Pl
STar gl

1. Inductive reasoning / S{TH LY

2. Exceptional reasoning / &rran% ?‘lé
3. Deductive reasoning / IBUCEISEY

4. Logical reasoning / difde aob

Correct Answer :-

. Deductive reasoning / FTHA dd

10) What form of learning is displayed when children imitate the violence they see in their favourite
video games? /

SIRRTH BT B9 T U YSRId gid1 & 59 9= 39 G 31 79 d 3dRd @ ol 3 31 widier difsar
T # 3 82

1. Operant learning / fobaTId 3iferTH
2. Observational learning / 3faclid=T S{ERTH
3. Conditional learning / 3Fsiferd SfRTH

4. Latent learning / 3o 3ffeRTH

Correct Answer :-

« Observational learning / e {ETH

11) What involves the repetition of information so that it moves from the short term to the long term
memory? /

_TET B GeRIGRT & o AR € |ifh 7€ TY-Prei & Sre-Bref Wi a aa?
1. Coding / < Habcieh=UT

2. Rehearsal / gaivird

3. Chunking / Tt

4. Storage / UGl

Correct Answer :-

» Rehearsal / E_[af‘lw



12) Differences in behavior between two cultures can be attributed to: /
3l Ypfaal & i e R A Siar & T 58 SRR |IHT o1 Yo B
1. Geographical background / Wi %3{&[

2. Socialization /HHTSIARUT

3. Heredity/ 3@@%

4, Environment / dIdTdUT

Correct Answer :-

« Socialization /AFHATSIEHT

13) Piaget developed important stages of cognitive development. /
e A aIFEs AP e Agayul @Rl fawiyd feu)

1. Five / UM

2. Eight/ 31

3. Four /dR

4, Three /?‘ﬂ_"f

Correct Answer :-

e Four/dR

14) 1t is easier to deal with all social situations, if you are aware of your /it arTfore fRufaal |

fuem e g, it smuem™ IR A A &
1. Interests/Ff%PIﬁ

2. Talents / ﬁﬁtﬁ
3. Personality / Sfadd

4. Hobbies / SMebT

Correct Answer :-

« Personality / fdid

15) IQ scores are generally correlated with academic performance. /

AMTAR WR ifSH TR 701, Reifdre wexi= & ary HgHagUd gidl 81



1. Least/®H

2. Highly / 3/

3. Moderately / 9890 0 4
4. Perfectly / O8I TRE ¥

Correct Answer :-

« Highly / 3&fd&

16) Which part of the brain is responsible for thinking? /

HIETSP BT B IT HRT foid= & fore SreR 82

1. Medulla / T (B el
2. Limbic system / 3Udegpe 1 o (fiftae Riem)

3. Cerebellum / STARTSD (IRdeTH)

4. Cerebral cortex / THATSH deghe (ARSA D)

Correct Answer :-

o Cerebral cortex / UHRTSH dehC (@i@'ﬂ ﬁa'\‘:l')

17) Which of the following is a part of our working memory? /
frufafea 3 @ o= ot srdfia Wi o1 ve w82

1. Central executive / oI HRAGRI

2. Declarative memory / STSUIHSB fel

3. Semantic memory / ‘\TIET'JF{%

4. Sensory register / Tad! IFoRex

Correct Answer :-

o Central executive / P& HRIBRY

18) Which of these classroom practices may undermine pupils’ motivation at school? /

T 9 BIH-9 Ha F J Y faemay § faenfial &1 9o & &7 $ gadl 82

1. Teachers fail to notice students’ difficulties for remediation / QTW GRT ﬁ@m Al Eh—%_"l'lgﬁh Gl ﬁ?ﬂ:{
P o [ I Uga- | 3% d g1

2. Teachers grade pupils’ competence as high / fRrefes gR1 faenfiay ﬁ g ¥ 3 U8 aqTI



3. Teachers encourage low performing learners / fRrere gRT 9 TR A a1 e disil &1 mafsd
PRSP

4. Teachers judge high achievers as excellent in high academic standard / Rrerd gR1 3= %&@W A& |
IFVA & 0 U I SUATS YT B aTal ofel HAT

Correct Answer :-

« Teachers fail to notice students’ difficulties for remediation / TRI&f GIRT ﬁm P d)i\OdIiSq\l' CAREME
P o AU I Uga- | 3% d e

19) Which are the two Associative Learning theories? /

3 gganht ot Rrgid -3 &2

1. Classical Conditioning and Operant Conditioning / RA ST (?ﬁ‘lTﬁlW HSIT) 3R gHTS
S (MTORE BT

2. Classical Conditioning and Oppressive Conditioning / AR \’rﬂaﬂ:{ (ERTI'@IW el 3R G?d)fﬁ
SIS (HTTRRYT S

3. Classical Conditioning and Operative Conditioning / R sy (FATRIP T b S IRIHT) 3R m
SIS (Sffade HIRAF)

4. Classical Conditioning and Observant Conditioning / R 3JdYT (OMII{-IGbﬂ HSIfT) 3R fadi
X S CUENCIETCIACICINIED)
Correct Answer :-

« Classical Conditioning and Operant Conditioning / ARA 3T (?ﬁﬂﬁlw HIT) 3R gHTS
SIS (SATURC PHSIATT)

20) Nive’s father has grey hair and is tall, so she thinks that all fathers have grey hair and are tall.
Which stage is this approach? /

159 & a1 & a1 Gibe SR W 8, safere 98 Aiadt @ f6 94t & frar & ara wibg iR a7 &1 9%
TR fhd SaRT A 32

1. formal operational stage/ 3= TfhareTds srawT
2. concrete operational stage / Hﬁﬂﬁﬂ% HART

3. sensorimotor stage / HERTACR =T

4. pre operational stage /1171c TihaTH D AR

Correct Answer :-

 pre operational stage /131,:O|c Tfhard D AR



21) Eysenck added a third dimension to the personality trait, which is:/

3MEa® 1 AT P T Y ATATH B 91d P €, g HIF-91 82
1. Agreeableness/ TgHAdl (THUS)

2. Conscientiousness/ 3fafdaeefierdr @T:Qﬁl'lﬂﬁﬂ)

3. Neuroticism/ w{?ﬁ%m

4. Psychoticism/ BIEEAIE

Correct Answer :-

e Psychoticism/ qEdifesH

22) A child cannot wait his turn to bat and often runs on to the field when someone is already batting.
What problem could the child be facing? /

TP =T geaiarsl & g a1 I8} BT SaeiR 781 B HebdT 3T G ASH R SISdl @ o d $Is
Ugd | g1 Teciarel $ 6T g § | I91 fhd HwT | S5 Y67 gRI?

1. Dysgraphia / fSTUM3M
2. Attention Deficit Hyperactive Disorder / STHTHIG Ud sfaafergar faeR

3. Attention Deficit Disorder / €T 31HTd [ABHR
4. Autism / SHTTCTH ) STHTTHIG(

Correct Answer :-

« Attention Deficit Hyperactive Disorder / &ATTHIG U sfaafergar faeR

23) Who among the following is a humanistic theorist? / Ffafafeada == TS AHaaarg!
frsiaer g2

1. Sigmund Freud / e wras
2. Ivan Pavlov / gdI+ BICHIC]

3. Aaron Beck / @T{W

4. Carl Rogers / T o

Correct Answer :-

» Carl Rogers / CANRUSE

24) Attitude towards learning is best defined as something that ./ FRATH & ufd edHiu & e
DI wuR IRUINa fParsrarg s g1



1. can be modified only by the learners themselves/ dad Rrenfdal gr1 g1 F=NfAd fosar S g
2. can be modified with age/ 3T o 1Y TR foar S Fevalt

3. can be modified by creating positive learning environments/ P RIHD S{FRTH ITATaRUT SRR SRNTIT
[ERISIKERI

4. cannot be modified/ TXNAT &Y fopam ST Tl

Correct Answer :-

» can be modified by creating positive learning environments/ HhIRTHDH SEATH TTATaRUT ST RN
o T Fepll

25) Round Robin Charts are used as a form of ./
IS AT A & U H yygad fPT e g1

1. Summative Assessment / IS TH

2. Diagnostic Assessment / EEBICCRCICIGE

3. Interim Assessment / 3fdARH 3T a-

4. Formative Assessment / XIATHD HTDH A

Correct Answer :-

o Formative Assessment / XdATHD HTh

26) Today’s classrooms are likely to have a wide array of cultural, ethnic, and racial
among student /

TS & HE3H H BT & o, P ia®, Seg iR A% &1 U favgd
§Gdl g1 BT UG 3|

1. Dynamic / TfchadT

2. Similarities/ THATAATY

3. Diversity / fafaerar

4. Continuities/ TR

Correct Answer :-
 Diversity / fafaerar

27) Giving a stimulus to a child once to motivate him/her is:/



TSP 9 BI §fvd 1 & e 3° I«ford s3A1 = giar 8:
1. Continuous reinforcement /ﬁwggaﬁw
2. Operant conditioning /&mmﬁ'ﬂ

3. Reinforcement / WUT

4. Neutral stimulus / dC& RGCEI

Correct Answer :-

. Reinforcement/m

28) As a teacher when you are working in a inclusive class room, your role should be: /

ﬁw%wﬁmmwwﬁaﬁm&nﬁmw@ﬁﬁ%ammﬁ

1. Punisher / 8 o ara
2. Care taker / aﬁlﬂﬂ A Tl
3. Investigator / 39D

4, Facilitator / Jgldh

Correct Answer :-

o Facilitator / Jalddh

29) ‘Bob can put together a model airplane’. This statement is an indicator of which attribute of aptitude
test? /

;ﬁ?mmmﬁwmﬂwm?rwﬁw,sif‘uqﬁruﬂ&maﬁmﬁlﬁww

1. Clerical thinking/ﬁ‘lﬁ%ﬂﬁﬁiﬂ:{

2. Spatial thinking/@mﬁﬂq

3. Organisational thinking/Wﬁiﬂ?
4. Intellectual thinking/mﬁiﬂq

Correct Answer :-

e Spatial thinking/@l’l’%ﬁﬁq

30) What is the term used to denote the basic, innate disposition of a child? /



T 9 & Gd, STHuTd WHTT I FAeiUd #1 & fore fea uq &1 gai faar smar g2
1. Personality / SAfadd

2. Temperament / TavTdl T il

3. Disposition / 3

4, Attachment / Feli |

Correct Answer :-

« Temperament / U id T ST

Topic:- General Sanskrit(L1GS)

" R scaey Ragad e 2
g dia: |
_Taq: T |
3 aq: 9 |
fOq: o |

4 3 O

Correct Answer :-

? Fearerta: sfa e eiad |
1 TeaRAd |



_ TcaTiRerd |
_ dcarierfd |
- Fcaiiefd: |

Correct Answer :-

4

3) P
10T Teedi! fahaea & fqefdd: gsad ?

T |
e |
_ HCHT |
, T |

Correct Answer :-

' g TeeET Herwy R 7

TG, |

1.

3T |

2



JCSHG |
3, 2 =

g, |

4,

Correct Answer :-

? g 5fy freed ueH 2
AqHHH |

1. 2 g

3cTTH |

2.

gToISaTH|

3. 2 i i
REICEUCE



4.31?lﬂﬁl

Correct Answer :-

e |

Correct Answer :-

T |

Y Usded $cO9 UcTd: & 7
qdoh |
o |

ody |

3 o

S



Correct Answer :-

? erdIisad: & ?
1, gepTL: |

, SThI: |

3 3EPR: |

. denll: |

1. -
QT cadlcel: |
2. e

Correct Answer :-



" eeeR 3fT FHEaT oS forEd |

GalTdcATeheTdG IR |

1

AP EGEIGEEFE G
&l i

CaTAdATIRERAATATH |
3.

AEGERIPETCHINGE
4.
Correct Answer :-

ACCERIBLEECINCE

12)

GEQTe] ST 4Id: : ?
U

&def |

2

3.61'*%1T|

, &are |
Correct Answer :-

. & |



.m‘mﬁrl

2

Y Y
N ScdHIcdH |

, TUH |

Correct Answer :-

~ 3cdd |

14) LY A\
A gHod-Fdl: HE: h: |
1 HTHT: |
2. E : l
HE: |
3. e



3.33 3fq GverH 3el: fowd |
ARG AR TG |
TGO RaTEH |
) FITERIGTTRAGGAA |
| PfeRr R |

Correct Answer :-

.ﬂﬁﬁﬁml

16) 5 LY u
TSTd 3cAET i bR &9 fohd ?

) Toad |
{old |
. e

2

R Ecl
ST |

4

Correct Answer :-

qold |
o



5 e ardl: Fcar YA &9 fhA 2
lﬁmﬂl
_ I |

3r_cRﬁITI

, TacT |

Correct Answer :-

18) :
95T AT EfAAT Tgaae fohA ?
Uahd |

1.

2. = l

) gdifel |



A |
qHA |
 aq

4'3'@|

Correct Answer :-

A9 U HA: & ?
| ar |

U |

| U |

4.;|?i"‘r|

Correct Answer :-

21

) .
JATH AT Igaaa 5 ?

ddiAT |

1.



5 3
didH: |
3 2
ddH: |
. ks

dd#H: |
. Mo |
22) fa
hlcdshlgd: oh: ?
c 2
Pledd: |
1.
2. : l
AT |
3.
Filcashd: |
4,



2. 2 i |

3. 2 ™ |
gfersal |

4 5

Correct Answer :-

24)

PIRAN:’ SAET dUile] JoUeh Joreh fal@d |

% 3 A A G L3

1.

F 3T o 7 T 3% |

2
B IATAAG T3
FIMAHAS T 3A: |
4,
Correct Answer :-
% 3 A AT L3

25) .
gfdded# 3fd 9g gush Hed |

4dg dcdl|

1.



ZEIT-ﬁFIE‘II

Uce] dcd |

3.
4t|ﬁ‘aar|

Correct Answer :-

Heel dcd |

y: + 314 |

3.

UNT + 349 |

4

Correct Answer :-

uy: + 319 |

27

) .
U sfd JeET Helwq e ?

urad |

1.

a8 |



oIy |

3
4EITI'I'\’:|'|

Correct Answer :-

I |

- gEafd |



TACI

4,
Correct Answer :-

G RIGLE ﬁg'-qilH-jbq-qﬁdﬂﬂ%q IET: W

3TaH |

1

3797 |

2

HATATH |

3
_ 3ETa |

Correct Answer :-

HATATH |

Topic:- General Hindi(L2GH)

1) WER F JUA BT dWS Hged B 3R T9 M TR F1 Wiell & s I9A 4 g1l &1 Aee F 3 RR W
¢RT ST = SARTI Y & WRT T hew | AT arelt | e weR A wue #1E T W) €Y g O 98 7 S
B T 781 S 7T 9 8, W & $d (arfl, a3l & agi Iga 31 3@ fieR, 39 99 90% | R-WR & arq g
3 76 F 3T B P A a1l 98 APl 31 IABT DI Ulagd! LY TP TR @ T7a1 8, g IR & +3
TS TR # el BT Je-T d% YRpd g1 ST | 98 -3 ol @ & JrA 3918 3R WIS &% A1 & 916 3UA e,
N, forurs A Tt Tuw AT gt gt e Jer 3R WM & 9w IS 31 U au| W | 91w, ard gt
1 g% gTerd | Hiv[g Y+ a1

ST TR Y Ugh -1 IR 7T U T SR Ia133:
w=- FRruTs e & forg smazg e @ 2
1. fagt



2. Iudl
3. IWIgd gt

4,31

Correct Answer :-

2) XMER & JAA BT WS TG BT R T TR TR Pt Wil H Ugadh 394 g1 3141 Bl Heg 9 - RR R
ST ST = SARTI Y & WRT U hev | AT arelt | e weR A wue w1 T WY €Y g O 98 7 S
B T WI8T 39 7 d g1, TR & $d fardl, REl A 981 354 31 78 fHeR, 39 a= aa® | R-1R § ara gt
3 76 F 3T B P A a1l 98 APl 71 IABT BIs lagd) 7L TP TR @ a1 8, g IR &+
TS W1 A Yeg! BT AT 9 YRpd gl RN | 98 78 a1 dFil & I [T 3R YIS 32 a1 F 916 3UA w9,
NP, fRrarE H3 Tt wur A1 8 Jeht | WIS Fer 3R WM $t ave I 91 T U™ R H 91w, ard g
dt g gTad | Hig I8+ arfeu|

ST T B UgHR 1 UD T U P IR qa133:
WA- Ufagdh 1 FAT g 81 82

1. gfaRidt

2. ufcantt

3. g&ft

4, faueft

Correct Answer :-

. geft

3) TMEX P YUT BT WS Higed B 3N T M TR F Wieht A uggd 3T g1 81Ul &1 7 I 3 RR R
¢RT ST = SARTI Y & WRT T hew | AT arelt | e weR A wue #1E T W) €Y g O 98 7 S
B U1 781 S 7T 9 8, N & o (arfl, 53l & a8i Iga o1 3@ fieR, 39 99 9% | R-WR & arq g
3 76 3T B P A a1l 98 APl 31 IABT DI Ulagd! LY ITF TR @ T7an 8, g IR &+
TS W1 A Yeg!l BT AT 9 YRpd gl AN | 98 1 7@ a1 aFil & i+ [T 3R WIS 32 a9 F 916 3UH e,
N, forurs 3 Tt Tuw UeT gt gt WeH Jer 3R WM & 9w IS 31 U TuT| W | 91, ard gt
g% gTerd | HiNg v Tk

ST TR B Ugh -1 IR 7T U T SR Ia133:
TH- ufagdl g drard g 2
1. AR



Correct Answer :-

. faueft

4) X & AUA BT AWS Higed @I 3R 4 MRA TR BT Gielt d UgTH I g1 31Ul 3 Hag I 30 RR W
tRT S 19 SaRT| gt & WRT U@ e | AT arent | feet ew # Wrg HIS QAT W G g o g% A S
&1 91 9151 39 7 od g1, TR & $od ~art, sedi A a8 g 371 ¥ fhreR, 396 o= 90 | WR-9R ¥ a1 )
3 @1 & IT P Bt B aTdl 98 APl g1 SUDT Dls Uldgal A8l | ITP TR dl Tal 3, fegd IR F 73
e IR | Fegl BT a1 aP GiRpd g ST | 98 9 3@ a9 aHN & JTHA 1S 3R W $R A9 F 916 A I,
N, FrTE H3= Tt Ta=r U1 3 g | WIS JeM 3R WM $t ave I 31 T 0T IR E 910, ard gt
t g gTad § "I g+ 9ifeu|

SR T B UGH -1 IR T UY BT SR qa133:
- @l /g 2

1. T4 BT R

2. PRI

3. AT

4, ST

Correct Answer :-
o G DTRE

5) XER & AT BT TWS Higedd Bl 3R T MR TR B Wiell H Ugad 39 i1 91Ul &1 7ge 9 A RR I
tRT S 19 SaRT| gt & WRT U@ Pex | AIET ARt | et ew # WrIg HIS QW1 W G g o g% A S
&1 91 951 39 7 o1Fd g1, T} & $d -art, svdi A a8 g 3T ¥ fheR, 396 o= 90 | WR-9R ¥ a1 )
3 3@ & IT P Bt HA aTAl 98 3APall g1 SDT Bls Uldgal Aal | TP TR dl TaT 3, g IR F o5
e IRI B Fegl BT T aP GiRpd g ST | 98 9 3@ a9 dHN & JTHA IS SR W $R A9 F 916 S I,
N, FraTE H3= Tt Ta=r U1 g g | WIS JeM 3R WM 3t avg I 31 T 0T W ° 910, ard gt
1 g1 gTerd | HINg ¥+t 91|

SR T B UGH -1 IR 7Y U BT SR qa133:
uY- frgt &1 3= 18 RATEIM 2

1. Higt

2. 9dl

3. PHAg

4. A1t

Correct Answer :-



6) G & AT BT qWS Higed BT MR T MFRAR TR B Wiell F Ugad 39 i1 81Ul H1 7gE 4 A RR W
RT T - IARTI U} d WRT TP HeX | Ardt arelt| g e ¥ Wrug $Ig U1 W g1 g O ag | St
B 91 9161 I 9 a8, R & Fad fHardt, 7l A 981 78 off ¥ fFReR, 39 = 96 | R-1R § ara fg)
A T8 & Y B B! HA dTell 98 Pal g1 ITDT IS Ulaga! T8 | TP TR @ a1 ¢, g wex & +5
TS W1 A Yegl BT a1 ab e d gl SIRAT | 98 -1 X8 a1 ARl & "1+ [T 3R UISHE &R a4 & 915 3U- I,
N, FraTE H3 Tt wa=r 91 3 g | WIS JeM 3R WM 3t ave IS 31 T 0™ W ° 91w, ard gt
@t g% gTad W i 8- 9ifeu|

ITYe TRIR P UgH 1 IR 7T UY BT IR 9133
T ASH! T BT Hl 82

1. §<i- HioH &1

2. QT UBMH DI

3. HOIG R Bl
4. Td fEt & 1

Correct Answer :-

. et gt & &1

7) e & AT BT WS Higed DI MR I+ MBI TR $t Wil § UgTs 39 a1 8141 Bl Heg I A RR
RT i - IARTI U} d WRT TP HeX | Ardt arelt| gt e ¥ Wrug $ig 1 W g1 g O ag | St
B 91 97ET I 9 94 8, R & Fd (Hardt, 7l A 981 T8 off 78 fFReR, 39 = 960 | R-1IR § ara )
A T8 & Y B B HA dTell 98 Pal g1 ITDT IS Ulaga! T8 | TP TR @ a1 ¢, e wex & +5
TS W1 A Yegl BT a1 ab YiRed gl SIRAT | 98 -1 X8 a1 NNl & T+ [T 3R UISHE &R a4 & 916 3U- I,
N, FraTE H3= Tt wa=r a1 3 g | WIS JeM 3R WM 3t ave IS 31 T 0™ W E 91w, ard gt
@t g1 gTad W "I 8- 9ifeu|

ITYe TRIR P UgHR 1 IR T UY BT IR 9133

wA- forads TR fegst <ex & & & It geeT a1 g 81 S
1. Tt & areft

2. SWIed g4t

3. QT §M drel!

4. TSTGR] B aralt

Correct Answer :-

- fhgt & arat

8) G & A BT AWS Higed @I 3R g MRAY TR B Wielt A UgTH I g1 31Ul 3 Hag I 30 RR W
¢RT Sig 2 IARTI U | WRT U bR | U areft| e =eR # wmae HIS A W E gh R 9 7 S
B U7 W8T 39 7 94 8l, TR & $d aril, R4l A 981 384 31 78 fHReR, 39% a= da® | )R-1R § ama gt
3 @1 & IT P Bt B aTdl 98 APl g1 SDT Dls Uldgal A8l | TP TR dl TaT 3, g IR F o3
TS R B gl BT A1 aP GiRpd gl TR 98 9 3@ a9 dHN & JTHA 1S SR W $R A9 F 918 A I,



iy, FRruTg B B JaT AT g1 AT | HISH e 3R WH 1 dvg I B T JHJATI R | AP, dTa fHg)
1 8 gTad | Hi[g ¥+l 91|

SUT TR B UghR A U Y UY T IR Iad13:
WRH- RMEY’ BT faad ghm?

1. el

2.70iq

3. dgNId

4, hW

Correct Answer :-

9) TEX & AUA BT WS Hged DI 3R I NI W F Wieht # ygga ST I A Pl Agg A A RR R
RT ST - IARTI gt | WRT U@ hew | a1 arelt| Red <ew A e $Is WA W 6 g O 98 7 S
&1 T 18T 39 7 9d g1, TR & $d ardl, vEl A 981 354 31 78 R, 39 a= aa® | R-1R § ara gt
39 T8 & I B P! B4 ATe 98 APl 81 SHDT DI Wlagal A81 | SHP T dl T 8, e WX F b
TS IR | Fegl BT JFa-T1 aP GiRpd ol TR | 98 7 3@ a9 dHN & JTHA TS 3R WeH $R A9 & 918 3 I,
N, fraTE H3 Tt Taar U1 g i | WIS FeM 3R WM $t avg I 31 T U™ IR 8 910, ard gt
1 8 gTad | Hi[g ¥+l 91|

SUe TR B UG 1 UD T UY P IR Ia13:
- HHA TP YHR BT 51§ ?

1. d

2. qard

3. %d

4, ol

Correct Answer :-

10) MEX F JUA HT dWS Higed B1 3R T7 1IN W+ Tiell & ugas 391 41 814 F Heg A oA RR
W eRT g 12 IarT| U A w1 0P bex| A arettl fegdt wew W wmae wiE Tur W T g o ag |
S 81 971 W18l S 7 9Fd 8, R & $a FHarfl, 3l & agi t@d o )@ fHRReR, 39¢ 9= 9@ | R I
a1 Frgt 3 T8 F S BT B HIA aTell 9E bl 81 IHST B Ufdgd! 7811 IHP TR df v 8, fogd wew
F B3 TP W A ool BT T 9 Ybd 81 | 98 7 38 a9 N & A TS 3R WS R a1 & 91
A TR, b, FruTs B ) o Uer 8) Wt Ao P iR WM @1 avE S B Uh Juwn| IR H T,
e frdh &t g% gTera § Hing Y8+ wifeu|

ST TR B UG - U T UY P IR qad13d:
- TR T T Hislg Y& a1fey?



1. ®Tall gt

2. 9 gt
3. 99d 1 B

4. I, oTel gt

Correct Answer :-

. T, ard gt

11) Ve & AU FT TUS Mg DI 3R 77 I/ W &Y Wielt & ugad? 39 g1 71l F weg | 3 RR
W eRT g 12 IarT1 U A W1 0P bex| AT arett| fegdt wew W e i Tur W T g o ag |
ST Y A1 16T 99 7 OFId 1, IR & $d Haril, syl 9§ 981 ¥8d o1 ¢ fPeR, 9% 9= aa® | ;R-aR |
aTe Frgt 3 T8 F S BT B HIA aTell 9E bl 81 IS B Ufdgd! 7811 IHP TR At v 8, fogd wew
F B3 TP W A Tegl BT T 9 Ybd 81 JAA| 98 7 38 df N & A TS SR WS R a1 & 91
3 Fee, A, frurs w3 3t wuwr a1 81 SwEtt | HieH P 3R WM #1 @vE AW I Uh U™ R T I,
aTa g ot 3% g1 | His[g Y+l arieu|

ST TR B UG - U T UY P IR qad13d:
WH- ISl B T TP THET 82

1. fgt &

2. TSI HRAT

3. HTh-JHTs BT

4, YIS Se™ 3R IH &1

Correct Answer :-

o IS JeM 3R TH Bt

12) ER F JUA $T dWs Higed $1 3R 79 1IN W+ Wiell & ugas? 391 41 814l F Heg A oA AR
TR SRT S5 A ARt ) @ wR1 0P Hex| At arelt| fegdt wew # g #E W R A e R 9 7
L g1 91 W18 S 7 9Fd 8, R & $a Harfl, 3l F agi tgd o )@ [P, 39d 9= 9@ | Wi I
T g 30 I8 & I BTH B HA aTell a8 ball 8§ | SYPT BIS Uidga! A81 | ITP TR o a7 8, g wew
F F3 UP W1 A el &1 o1 9P GRPpd g SR 98 7 I8 a dFN & T /S 3R US| & a1 & 91
A TR, s, FruTs =t ) o= Uet 8) wgft | Ao P o WM @1 avE 1S B Uh Juwn IR H 1w,
aTa g <t 8% g1 § His[g ¥e+il 9re vl

ST T B UgHR 1 UD T U P IR qA133:
- fPRRGR 9 A/ e o A A?

1. feAia

2.5 Y

3. R4



4. eI

Correct Answer :-
. Y

13) Ve & AHA BT T0S Hge DI 3R 77 I W Y Wielt A ugad 39 a1 31l Ft 7ag I 3 RR
TR ¢RT S5 A IarT ) / wR1 0P Hex | Ardt arelt| fegdt weR ¥ e wE T R A e R 9w T
ST 8 1 98T 39 7 9Fd 81, R & $d fHandl, sl F 981 6d o ) fPeR, 9% 99 9a® | )RR |
e figt 3d Y89 & I BT Bl HR aTdll a8 bl 8 | SABT BIS Uidga! Aal | ITP SR @ e 8, g wew
F B3 TP W A el BT T 9P YIbd g1 A 98 - 38 °f N & - TS iR WS 3R a4 & 91
3T e, A, fRIuTs He Bt wuwn ter 81 et WieH Jer ok WM B @vE AW i Uh U™ R § 91,
et FrdY Y 8% gTaa A Hisig Yeel wifRul

STRIE TR B Ugdh ) 3T 1T weii & IR qarsu :
1. fac=h
2. dagd
3. doH

4. TR

Correct Answer :-

14) MER F T $T qUS Higed DI R T TR W B Giell § UgTH? 39 S 8141 Ft Hag A oA RR
TR eRT 915 - IarTI gt S W1 U Hex| Al ardt fRedt wer H e T #is W 8 g S ag 7
ST Y a1 58T 39 7 9Fd 81, R & $d fHandl, sl @ 981 d o ) fFeR, 9% 99 9a® | )RR |
aTe gt 3 T8 & S BTH B B aTell 98 bl § | SHDT BIg Uagat 7T | IWP TR af @ 8, g wew
& B3 TP W A el BT T 9P YIbd g1 A 98 - 3¢ °f NN & - TS SR WS 3R a4 & 91
3T Tee, i, fRIuTs w3t wuwn Uer g1 et WieH P ok WM @1 @vE AW i Uh U™ R § 910,
et FrdY ot 8% gTaa o Hieig Yeeil TRl

ITYe TR P UgH 1 IR Y UY BT IR 9d133:
TRA- A B U AT 8T 82

1. forars

2. T HRAT

3. IS AT

4, WIS M

Correct Answer :-

o OHETHRAT



15) e P YHA T AWS Higedd B 3R T A TR FT Wiet H UgTH I 1 o141 BT 93 ¥ 307 RR W &1

aign 2 SARTI it | HR1 U Hex | Ard) areht| et wew # wrag ¥ 1S W) ) g1 o a8 7 STl €Y an ot
I 7 9 &, R P o Fard, SeE) I 987 T8d 31 78 FgR, 39 9= qa® | TR-8X § aTa (g 3d 381 & ST o
B B AT I8 Pl B | IHPT D18 Ufagd) 78T 1 IHP IR df avran 8, Red e & $2 ve W # Ieg) &1 a1 9
gipd g S| 98 71 X8 O G & IR 1S SR YIS 3R a1 & 916 3UH Jee, 91, furs & 3t quwr ter g
ST | U P iR T 3 a¥e e B Th a1 TR § 1, e FIg) dt g grad § Hivg e+ Tl

ST TR HI Ugh 1 U 7Y Uy HT 36X Ta1sd:
TR- "He A arad § 2

1. HTER

2. TiaA

3. HC T

4, STect

Correct Answer :-

16) q A Y4B B,
T S5 Hi,

A gem o,

P YUY, P YUY, P IY,
3Ry firgy iffray |

g e TN B,

I QI A &,

39 T ¥ 9,

AYYY AYTY FYYY,

3Ry gy gy |

ST TS B UgHR A9 IR 7T U HT IR 9d134:
- 3%’ XTeq for HTHT HT 82

1. 4%pd

2. f&t

3. 590 Q IS TET

4. 3%

Correct Answer :-



17) T Y FHi,
T vHT H,

CEEISUICRNR

P WYY, BT IYY, B YUY,
gy Ry Ry

Y AT T B,

T RIATH &,
3Y WG I 4,

AYYY AYUY AYYY,
gy gy gy

ST UL P UgH 1 IR T GY BT IR TA139:
- e T HS § 2

1. gd

2. 301,

3. qhg

4, O

Correct Answer :-

18) T Y H,
T FHM B,

CEEISUICRNR

P YUY, HY YYY, B ITY,
3Ry 3Ry Rmy|

g UG €4 B,

IO QI ATH B,
3y ¥4 ¥ 9,

AYYY FYUY AYYY,
3Ry gy iRy |

ST TN F UgH? 1 YD T UY BT IR TA153:
W=H- U Hiddl &1 uferare 82

1. faRg &1 6l

2. @Oy Sita

3. Qb B Slia

4. FIYHY Sfa

Correct Answer :-

. TOYHY S



19) T YHI FUi,

T vHT H,

A gsm B,

Y XYY, F WYY, H AUY,
gy Ry Ry

g A €U B,

I/ AT

Y WGIF 9,

AYIY AYYY AYYY,

gy ¥y 3Ry |

ST UL P UgH 1 IR T GY BT IR TA139:
WRH- Sita+T &1 a8 Ty Uy 4T 32

1. TR AP 4

2. 3% & quH

3. Y& b GHM

4. 3% b FHH

Correct Answer :-

o TS IEA

20) T YT B,
T FHM B,

TGS HH,

DY VYUY, DY YUY, P MUY,
gy ¥y 3Ry |
YgHETH T ©,

IO QI ATH B,

3y ¥4 ¥ 9,

YUY YUY YUY,

gy gy gy

ST TN F UgH? 1 YD T UY BT IR TA153:
WH- <31 &1 gt 78 82

1. 3ffAd

2. 3

3. OIdd

4, 3T

Correct Answer :-



21) T YIS HH,
T vHT P,

CER:CLIE R

DY YUY, HY YUY, hI YUY,
gy Ry Ry
YgHETH T §,

T RIATH B,

Y TG T 9,

dYYY YUY dYYY,

gy ¥y 3Ry

ST UL P UgH 1 IR T GY BT IR TA139:
- <Ry § ST 91 9H 82
1. G§

Correct Answer :-

. HHYRY

22) T YST B,
A FHm B,

TGS HH,

PR YUY, B YIY, T Y,
gy ¥y 3Ry |
YgHEH T ®,
ECRGEE S

Y GG ¥ 9,

AdYYY YUY YUY,

SFgy Ry Ry

ST TN F UgH? 1 YD T UY BT IR TA153:
W=A- <3P 2Ueq B2

1. foc=h

2. ddH

3. dad

4. GRS

Correct Answer :-



23) T YN HH,
T vHT P,

CEEISUICRN

P WYY, BT IYY, B qIY,
gy Ry Ry
YgHETH T §,

T RIATH B,
Y WG I 4,

AYYY FYUY AYYY,
gy gy gy

ST UL P UgH 1 IR T GY BT IR TA139:
UH- TRgd Sfddar A $f3 {5y 919 Ft Iuy @rar e 2
1. Had T g oI

2. Had | Yo Bt

3. Had A b Bl

4. JURTad gt

Correct Answer :-

o SWRIad g4t

24) T YST HHI,
A FHm B,

TGS HH,

DY YUY, DY YUY, P MUY,
gy ¥y 3Ry |
YgHEH T ®,

T RIAIH B,

Y GG ¥ 9,

TYTY TYYY TYTY,
3y fdray sy

ST TN F UgH? 1 YD T UY BT IR TA153:
- AYTY F AT §2

1. SETgaM

2. TGS

3. GeTgan

4. 1 goM

Correct Answer :-



25) T YHMHH,
T vHT P,

CER:CLIE R

DY YUY, HY YUY, hI YUY,
gy Ry Ry
YgHETH T §,

T RIATH B,

Y TG T 9,

dYYY YUY dYYY,

gy ¥y 3Ry

ST UL P UgH 1 IR T GY BT IR TA139:
TH- TATY W T BT Sgied frasd R @2
1. IR & oy

2. 3G & forw

3. Yo o g

4, TS & fag

Correct Answer :-

. 99 % faw

26) T YHM B,
A FHm B,

TGS HH,

DY YUY, DY YUY, P MUY,
gy ¥y 3Ry |
YgHEH T ®,

T RIAIH B,

Y GG ¥ 9,

TYTY TYYY TYTY,

3oy Sif¥ray siffay|

ST TN F UgH? 1 YD T UY BT IR TA153:
- <31y e &7

1. e

2. TAlTQHT

3. TR A B Gt

4. JHTLHT

Correct Answer :-



27) A YN HH,
T vHT P,

CER:CLIE R

DY YUY, HY YUY, hI YUY,
gy Ry Ry
YgHETH T §,

T RIATH B,

Y TG T 9,

dYYY YUY dYYY,

gy ¥y 3Ry

ST UL P UgH 1 IR T GY BT IR TA139:
WH- Sfta "ud %191 §° 98 Sfad 32

1. (YOS

2. 389

3.9

4. BIUHD

Correct Answer :-

28) T YHM B,

A FHm B,

qAgSm P,

PR Y, B YY, HX Y,
gy Ry Sfay|

Y AT T B,

A ETATH R,

Y WG I 9,

AYTY AYTY AYYY,

Sifiray 3Ry sy

ST TN F UgH? 1 YD T UY BT IR TA153:
U AT WG A B o IR

1. AfGdarad A

2. HTgdTdd T
3. 399 A B T
4. Sifqara® G0

Correct Answer :-

. Sifdaree I3



29) T YHM HH,
T vHT P,

CER:CLIE R

DY YUY, HY YUY, hI YUY,
gy Ry Ry
YgHETH T §,

T RIATH B,

Y TG T 9,

dYYY YUY dYYY,

gy ¥y 3Ry

ST UL P UgH 1 IR T GY BT IR TA139:
WH- MUY BT GATGar 81 82

1. Tifer

2. HOH

3.0Y
4. grTY

Correct Answer :-

- Uy

30) 9 YHM B,
A FHm B,

TGS HH,

PR YUY, B YIY, T Y,
gy ¥y 3Ry |
YgHEH T ®,
ECRGEE S

Y GG ¥ 9,

AdYYY YUY YUY,

SFgy Ry Ry

ST TN F UgH? 1 YD T UY BT IR TA153:
W=H- YR BT BT UTeT Bt @2

1. @S e

2. 3radt

3. SISTHTYT

4. gUdl

Correct Answer :-



Topic:- Mathematics (MAT)

1) From the sum of 2m? + 3mn + 3p, — 4m2 — 7mn + 5np — p2 and 5n2 + 4np + 2p2-p subtract the
sum of 6n2—m2 — 5p2 — 4mn and —m?2 + np + p2+2p. /

2m2 + 3mn + 3p, —4m2—7mn + 5np — p2 T 5n2 + 4np + 2p2-p F AT H F 6n2—m2 — 5p2 — 4mn T
—m2 + np + p2+2p & U H! HeTd|

1. 11m? +8n2- 4p? -4mn —2m? +6np + 2p
2. 3p2

3. 5p2 -n? + 8np

4.8n%2 - 5p2 -7mn —2m2 + np + 2p
Correct Answer :-

. 5p2 %+ 8np

2) A farmer wants to fence his regular hexagonal plot of side 200 meter. What is the total length of
rope required? /

% frar 200 Hex YoIT & JH-YEYS PR a1 YTs | 918 ST d1edl 2 1 39 fie sraxgs =ft ot
T TaTg fpa-t ghft

1. 1400 meter / 1400 e
2. 1000 meter / 1000 e
3. 600 meter / 600 Hex

4, 1200 meter / 1200 e

Correct Answer :-

« 1200 meter / 1200 Hicx

3) On selling a tea set at 10% gain and a lemon set at 20% gain, a crockery seller gains 26. If he
sells the tea set at 5% gain and the lemon set at 15% gain he gains 17. Then the actual price of the
tea set and the lemon set? /

10% & ATH TR TP ¢1-9¢ 3R 20% & ATH TR TP Ve d-A¢ 994 U, TP Hid) fAshdl 26 FUY BT ATH UT
YAl 21 IS 98 5% & ATH TR H-A<T 9YUT 15% & AT X YA d-Uc oadT @ df 39 17 FUA T A1H YT gidl
2, 1t f-3¢ v 3da-Ae o1 aRafa® qed 82

1.75, 80

2.200, 100

3. 100, 80



4. 150, 120

Correct Answer :-

- 100, 80

4) A hotel requires 91 bottles of oil for a week. Find the cost of oil it will require for 58 days if one
bottle costs Rs. 98. /

U glcd Pl TP JWIE | 91 S1dd ad B! ATaxgHdl gidl g1 Tfe U diad &1 @RTd 98 $Ud §, a1 58 =i &
fore srrawg® d« $) ARG T B

1. Rs. 72384 / 72384 ¥
2. Rs. 75460 / 75460 =00

3. Rs. 75400 / 75400 04

4. Rs. 73892 / 73892 =0

Correct Answer :-

« Rs. 73892 /73892 T

5) Breaking up of the mathematical concept into smaller parts is termed as ./

T @YUM &i Bic fewgl # disr HET SITdT 81
1. synthesis / TN
2. analysis / fa=eruor
3. inductive / 3RTHA
4. deductive / AT

Correct Answer :-

o analysis JACEELLYI

6) Fill in the blanks. /

R == W1

I-53+__=53

II[11 + (-14)]- () = () + [(-14) + (-9)]
1.1:0, II: -9, -11

2.1:0, II: 9,-11



3.1:53, II: -9, 11
4.1:106, II: 9, 11
Correct Answer :-
o I:106, II: 9, 11

7) If the perimeter of a regular octagon is 320 cm, then the length of one side is: /

gfe T 99 TYS $T uRkATg 320 It 8, @t 3D TH YoI1 B} A4S 8:
1. 60 cm / 60 TJHt

2. 80 cm / 80 TH
3. 40 cm / 40 T

4,70 cm /70 9+

Correct Answer :-

e 40 cm /40 9H

8) Which of the following will give a whole number result? /
fFrafafEa & ¥ F19-a1 wRum & v § v gl @1 3
i. 6-2

ii. 6/5

iii. 0x3

iv. 7-9

LA, i, i, iv /3 i, i, i, iv

2.i,and iv/i, T iv

3.Only i/$hdd i

4. i, and iii /1, T iii

Correct Answer :-

e i, and iii /i, Td iii

9) A conjuncture is a statement which we believe is true, based on mathematical intuition and if we
proved it, then it becomes a i

TUNT/ A (F-SHTFR) TP HY & O g9 WHd € 5 98 9= €, vd i siagiq R enuriva
3R 3R A4 39 ifad & feun, @) g v 9 ST 81

1. postulate / YR



2. axiom / XaUfg a1 Rrgid
3. theorem/ﬂﬂ’q

4. statement / h Y

Correct Answer :-

e theorem / Tag

10) Amicable numbers is discovered by ./
Tfidad R $t @ RT3 TR

1. Euclid / JfdaTs

2. Thales / I

3. Pythagoras /UTS'%ﬂTnW

4, Plato / el

Correct Answer :-

o Pythagoras /tITE'?vﬂThW

11
) Ifu, = x,—900.,% fiu, = —400,% f, = 100, then x= i

afe u, =x,— 900X fiu;,= —400,Xf, =1008.arT x=___ .

1. 984
2. 546
3.782

4. 896

Correct Answer :-

» 896

12)

IE_
=2 +2x+4
= : B_
Aedichd X ——— =28, arx &

x+2x+4

= 2 then x is:

Evaluate

1.2

2.1



3.3

4.4

Correct Answer :-

13) InAPQR and ALMN, PQ=NM. »P= + M. The two triangles will be congruent by
SAS axiom if :

APQR UG ALMN # PQ=NM. £P=£M @ SAT-HIT-8aAT R&Td &aRT ar
¥ FaEEA g, A

1. QR=ML

2. PR=ML

3. QR=MN

4. PR=LN

Correct Answer :-

« PR=ML

%) Inthe given figure, O is the centre of the circle, £ 0AB=60° and the radius
of the circle 6 cm. Then the area of the triangle is:

few atv W@fEs & 0 9o &7 FF & 20AB=60"HR Foa Hr FF=aw
6 ®AT 8, aF T[T 7T 895 &

A B
93 cm? / 9+/3 THE
1.
13+/3 cm?/ 13+/3 THR
2.

72 cm? / 7+/2 HE
3.



4, 6cm2/6@1ﬁ2

Correct Answer :-

93 cm? / 93 GHE

15) In an equilateral triangle ABC, AD 1 BC,AD? = xBC% thenx=___
UH FHEG it ABCH, ADLBC. AD? =xBC Al x=__

2
1 4

L
2. *

X
3. 3
4.4

Correct Answer :-

|

16)
If & and f§ are the zeroes of the polynomial 3x% + 5x + 7. then:—3 +£% is

aﬁauﬁﬁa@ut35+5x+?éaim%ﬁ’r:—z+%= 21

1910

2101

190
343

37

82



243

4, 310

Correct Answer :-

190
343

17)

If the side of the equilateral triangle is 4+/3 which is inscribed inside a circle , then the area of
the circle is:

afe, waarg Begel 1 ofer 493 § Sl U god & 3HeX 3ifhd B, ) dod T aTTh -
, 36mcm?/ 36n R

161 cm? / 16m THIZ

2.

O cm? /9 HHZ
157 cm? / 157 QHP

Correct Answer :-

16m cm? / 16m T2

18)  1n two triangles ABC and PQR , AB=QR_ BC=QP AC=RP then:
ar B ABC3{R PQR#. AB=QR. BC=QP, AC=RP g, arn:

| AACB = AQPR

| AABC = ARQP

, AABC & APQR

AABC = AQRP



Correct Answer :-
AABC = ARQP

19 There are 30 laddusin a plate. Anil took = laddus if 10 laddus remained balance. Choose the

matching equation.

U drell # 30 @53 bl 3fde & Zogg o foram afe 10 @53 A9 I® W g A
AT FHAEROT &1 = F

2 _10=30
2

30—2+410=0

30+10="

20)

ABCD is a trapezium in which AB || DC. If ar(AABD) = 24 cm? and AB = 8§ cm, then the
altitude corresponding the side AB of AABC is .

ABCD Us THeE ¢, 998 AB | DC g1 3G (AABD) & al9%he =24 AHALTAMAB =8
AT £, O AABCHT Hald =TT ABHI 3915 _ ©

1. 16 cm/ 16 94t

2.8 cm /8 I

3.7 cm /7 9wt

4.6 cm/ 69

Correct Answer :-

e 6cm/ 69w



21
) If PQRS is a trapezium in which PQ|IES and PS=0QR .then:

afe; PQRS U& THEE b, oiad PQIRS 3R PS=QR B, ar:

£P=1/5
1.

£P = /R
2.

2Q=£8
3.

ZP=2Q
4.

Correct Answer :-

2P =2,Q

22)

If e and 8 are the zeroes of a quadratic polynomial x® — 3x + 7. then the quadratic polynomial

whose zeroes a.re% and%is

e o Ta g AU FEUE x2 - 3x + 7 & YIS g ol oEE ﬂu—«‘:ﬁ?iuﬁ% t. 98
cfagrd sg9e _____ &

| xF—3x+7

5 Tx*—3x—1

3 Tx*+3x+1

4 Tx*—3x +1

Correct Answer :-

Txf—3x+1



The average temperature of Mondav Tuesdav and Wednesdav was 73° C, while the average
temperature of Tuesdav, Wednesdav and Thursday is 77° C. If the temperature on Thursdav was
76° C then the temperature on Monday was ————-—-—-

meﬁaww%mwﬁmmﬁwaw
3R IEaR &1 it dmAe 770 dfewad ¢ I1E TEAR HT d9ATe 760 AeTad o,
al SIFaR &1 dgA 2T

e C
1.

o &
2.

782 C
3.

i
4.

Correct Answer :-

e C

(113)*+(279)°
(113)2-113=279+(279)=

1. 113
2.392
3.279

4. 639

Correct Answer :-
e 392

25) Choose the number divisible by 6. /
6 9 fauTfora g1 arelt = &1 99+ S|

1. 2281

2.2148

3. 2186

4. 2108



Correct Answer :-

e 2148

26) Choose the true statement about expression 4a3 — 37bc. /

P 4a — 37bc & HIY H gl HYF BT I Dr |

1. a, b and c are the three terms of 4a> — 37bc. /4a3 —37bc F AT UG a, b T c B

2. 4a3 and 37bc are the two terms of 4a> — 37bc. / 42> — 37bc P &I US 4a3 T4 37bc gl
3. 4a3 — 37bc is monomial. / 4a3 — 37bc Wq?ﬁq%l

4.4a3 - 37bcisa polynomial. / 4a3 — 37bc WEETTC{%I

Correct Answer :-

« 4a3—37bcisa polynomial. / 4a3 — 37bc WW%I
27) Find 222222 x 15. / 222222 x 15 9 B

1. 3333330

2.3333335

3. 3444450

4. 4444440

Correct Answer :-
e 3333330

28) A number is multiplied by 7 and 36 is subtracted resulting to thrice the number itself. Then the
number is: /

T AT B 7 | 0N A TR 3R STH A 36 e TR IR W Td &1 i+ A1 8 wird 8, o S &:
1.9
2.7
3.4

4.8

Correct Answer :-



29) Using the divisibility test, determine which of the following numbers are divisible by 8? /
faursigar wirg &1 Iua B, FMuffia w3 i Fafifee § @ $19-39 wen 8 1 fawfm 22

1. 68324

2. 98780

3. 74612

4. 37136

Correct Answer :-
e 37136

30) The term synthesis in the Bloom's Taxonomy is revised as ./
W & BT | e HRAYT Hi ¥ wu ¥ I=nfra far man g1

1. Analyzing / IEESLLI

2. Evaluating /EIETW A

3. Creating / BEIUECTE

4. Applying / Q[ HRAT

Correct Answer :-

o Creating / EEINETEH

31) 11 square pits of side 1 m are made on a plot of land 7 m long and 450 cm wide. What is the
area of remaining part of land? /

7 Wex @9 3R 450 A NS YT F TP ghe W 1 WX Yo a1 11 FTHR T3 F97¢ o 8 1 YT & v
P AP fha-r 82

1. 304 sq m/ 304 FHIER
2.95 sqm/9.SanTﬁET
3.20.5sq m /20.5 THCR
4.31.5 sqm/31.53"'ﬁﬂ€?

Correct Answer :-

e 20.5sqm/20.5 iR



32) "Mathematics is the queen of the sciences and number theory is the queen of mathematics” is
stated by: /

iford, fagme & 3T SR W= Rigid (AR @) TIfora #1 I 817 98 9% gIRT $el TT 8
1. Gauss / T

2. Bell / &

3. Fischer / fhRR

4. Bernard Thomas / - S‘ Y

Correct Answer :-

e Gauss/ g

33) What is the successor of 99999? /
99999 T} TG T HIT 32

1. 1000000

2. 100000

3. 99998

4. 99990

Correct Answer :-

» 100000

35) The graph of the linear equation 5x+3y=-15 is the line which meets



the x axis at the point: /

I® BT 5x + 3y = -15 BT ITE 98 ¥@T1 8 o x 3 A 33 faig wR e &
C:-6)

1.

2. (3,0)

3.(0,-5)

4. (-3,0)

Correct Answer :-

. (-3,0)

36) The fourth vertex of a square whose three other vertices are (3,0),

(0,0) and (0,-3) is: /

U it &1 <t 2 a3, et s = =i (3,0), (0,0) TE (0,-3) B

1. (3,-3)

2. (-3,3)

3. (-3,-3)

4.(3,3)

Correct Answer :-

37) The mirror image of (3,-5) in y-axis is: /
y-31& R (3,-5) o1 guur ufafda 2:

1. (3,5

2.(-3.,5)

3. (-3,-5)

4. (5,3)

Correct Answer :-

* ('3,'5)



38) Which of the following is the equation of a line passing through the point (12,-13)? /
fFafafaa & @ o1 fig (12,-13) 3 ToRA arelt a1 &1 adfiew g2

1. Ox+5y=11

2. 7x+5y=19

3. 2x-3y=-63

4. 9x-5y=174

Correct Answer :-

39) Immediate objectives are stated under ./
dPTASERT & 3iaia afdfa &1

1. affective domain / HTdTHD T

2. connective domain / SISl U&

3. altitude domain / 3= (Qc—vflags') Y&

4. cognitive domain / G U&f

Correct Answer :-

« cognitive domain / ITHTHD T&

40) ABC is an isosceles triangle with AB=7 cm and BC= 13 cm. How many such triangles exist? /
ABC U qufgarg Ay« 8, SR AB=7 9t 3k BC= 13 1t 31 TR fpam fryw divge 82

1.2

2.1

3.0

4. More than 2 / 2 ¥ 3if9%

Correct Answer :-

41) Find the co-ordinates of the point P which divides the join of A (3,-1) and B (-3,-4) in the ratio 2:1./



A (3,-1) Td B (-3,-4) B! Sirg= aTelt QT B 2:1 F 3rura A fyufora &3 areht g p &1 =i gra w31
1. (1,-3)
2. (-1,3)
3. (-1,-3)

4.(1,3)

Correct Answer :-

42) Find the area of the triangle formed by the points A(0,1), B(0,5) and C(5,4). /
g A (0,1), B(0,5) T C (5,4) gR1 FAffa Ay &1 e ra +¥1

1. 8 sq.units / 8 CUECIES

2. 16 sq.units / 16 CUECIE]

3. 10 sq.units / 10 T:ITfETﬂg

4. 5 sq.units /5 CUREIES

Correct Answer :-

e 10 sq.units/ 10 El"f%ﬂ?'l'g

43) learn by actually experiencing or carrying out physical activities. /

IRAa § SFHT HIA T AR fAfafiry & 3 & dad &1
1. Kinesthetic learners / TTfauRas fRrameff
2. Auditory learners / 40N fRremeff
3. Sequential learners / 3{Ih o fRremaf
4. Visual learners / T0® fRigmaff

Correct Answer :-

o Kinesthetic learners / TfauRe fRyamef

44) The area of square that can be inscribed in a circle of radius 6 cm is .

I T BT @B g, Y 6 At e arelt o gu & st Ipivl fvar s awar 31

1. 144 sq cm / 144 T



2. 72 sq cm /72 I Qe
3.81sqem/ 81 i gt
4.36sq cm / 36 9 Tt

Correct Answer :-

. 728qcm/723ﬁ@7ﬁ

45) The great school Alexandria during 300 BC was formed by ./

300 39T Jd & R HETH 1B d Saaifgar &1 fAufor & R fo5am T AT

1. Euclid / g{aaie
2. Alexander the Great / R HglHq

3. Pythagoras / UIYNIRY
4. Aristotle / ¥

Correct Answer :-

o Alexander the Great / R HglHq

46) The centre of a circle is at (-1,3) and one end of the diameter has co-ordinates (2,5), then the co-
ordinates of the other end are ./

TP T BT H% (-1,3) W 8 TUT T BT TP 3id BT (SR (2,5) 8, A gR s HTfAdznsd 1
69

, (=41

;. (0,0)

4 (3.2)

Correct Answer :-

. (_411}

47) If the supplement of an angle is equal to itself, then the angle is: /
Tf Th B0 BT HRP WA P SRR ¢, a1 BT g:-
1. Acute angle / IETW



2. Right angle / BSECA

3. Straight angle / BB
4. Obtuse angle / 3{T&H DI

Correct Answer :-

o Right angle / BSECA

48) When learners makes their own definitions, concepts and theorems, they are making ./

oiq gt sraeit ufvurem, sy iR Rigia@d s g, dia_ Afifaswd §1
1. precision / TRFLGdT

2. generalisation / JTHTRITHRUT

3. accuracy / JUTdT

4. frequence / SRERAI

Correct Answer :-

 generalisation /W

49) In a singing competition, the points (maximum being 60) allotted to the 15 participants are 60, 52,
42, 40, 43, 44, 46, 46, 45, 42, 41, 40, 46, 48, and 46. What is the mode of the above data? /

TS A wfaaifar #, 15 ufaunfral o1 fiu e siw (Siftredw 60 8) 60, 52, 42, 40, 43, 44, 46, 46, 45, 42, 41, 40,
46, 48 TG 46 8 | ST ATHST BT IgAP fbaT 32

1. 44
2. 48
3. 42

4. 46

Correct Answer :-

50) Find the odd one out. /
eeatruakickad
1. Radius / s



2. Chord /GﬂaT
3. Triangle /ﬁﬁﬁ
4. Point /ﬁ@

Correct Answer :-

- Point /ﬁﬂ

51) A primary prerequisite for the child's ability to count is: /

= @t i1 9 &HaT & e ve urufie = 8:
1. None of these/s_"lﬁﬁﬁ_‘éc’_ﬁof

2. Fluency in place value concept / T HIH dYURUT] ﬁmfﬁl

3. Fluency in writing numbers / T o H Jdig E-?fl

4. Fluency with number word sequence / YT Xeg S{JhH %qufﬁl

Correct Answer :-

+ Fluency with number word sequence / I e, 3HJhH %quﬁl

52) “Curriculum is a tool in the hands of an artist (teacher) to mould his material (the pupil) in accordance
with his ideals in his studio (the school)” was stated by: /

YIS Uh HATPR (R181) & 814 § TP IS ¢ &l 39> i (Rermea) # 39 e &
R 9P ARER (B $i eTem & R 317, 98 $YF 371 g1 Hel 141 38

1. Cunningham / HigH
2. H. Robert Beck / Td. J&c 9h
3. Derek Rowntree / SX® ilqa

4. W. Walter Cook / S&Y dlecX P

Correct Answer :-

e Cunningham Ao

53) Which of the following methods is not advisable for a mathematics teacher since it takes the form of a
'one man's show'?/



gﬁm%wﬁrw%ﬁqmﬁﬁﬁmﬁﬁﬁlm?ﬁ%mw'aqﬁqsﬁ'wwam
|

1. Lecture method / SIRHAT fafdr

2. Heuristic method / &HEIT:ﬂﬁﬁf

3. Project method / g fafdr

4. Laboratory method / TRATRITET fafey

Correct Answer :-

« Lecture method / SRS fafer

54) The Father of Indian statistic is i
YRA APt d w3l

1. Gauss / T

2. S.P. Gupta / . UTI[w

3. P.C. Mahalanobis / ke ngm':hﬁm

4, Fischer / fhER

Correct Answer :-

« P.C. Mahalanobis / Ut 3. AgT-TeY

55) How many whole number are there between 10999 and 110522 /
10999 TF 11052 & &t fHa-it quf G=g g2

1. 49

2.50

3.52

4. 53

Correct Answer :-

56) Anu wants to find the perimeter of a 5 point star shaped polygon drawn by Amal with
each side 5 cm. Help Anu by finding the perimeter of the star. /



3, A gRT IWifdbd [Hd T Yd® 5 JH BT YSIT 91 5 WEe €R ATHR S g4 T IRATT 1
ST ATl 8| TR BT URHTY F1d H1 § 3 Pt TgTaal B3|

1. 50 cm/ 50 9H
2.15cm/ 15 TH
3. 75 cm/ 75 9

4,25 cm/25 9+

Correct Answer :-

e 50 cm /50 9H

57) CANCELLED

3
If the volume of a vessel in the form of a right circular cylinder is 448 ™ “™" and its height is 7 cm,
then the CSA of the cylinder is ./

af} Uw 9 T AT F PR I TH T BT AT 448 T T3 qoy gwast Fard 7 S R, o Jo w1 9%
Ui K 1 s S

1. 464 sq cm / 464 a1 QT
2. 378 sq cm /378 o1 QT
3.352sq cm /352 o Tt

4. 482 sq cm /482 i et

Correct Answer :-

e 352sqcm/352 T et

58) CANCELLED

Psycho-motor activities under mathematics deals with: /
Tfra & siaia Arsel-Atex fafafirat ¥ Hafta 71
1. All of the above / IR gt

2. Drawing only / Had DD (_Q"IETI)

3. Manipulating only / FHad HhHad (ﬁ?ﬂgﬁﬁm

4. Model making only / $Had digd fAAfor (IIV'IET“T ﬁﬁv_"l)

Correct Answer :-

e All of the above / IR gt



59) CANCELLED

Consider the following statements: /

1.Whole numbers are closed under addition and subtraction but not under

multiplication and division.

2.Integers except zero are closed under addition, subtraction, multiplication and

division.

3.Rational numbers are closed under addition, subtraction, multiplication and

division.

Frafafed sy «w® foar &3

;gﬁgaw%mqﬁﬁwﬁﬁﬁ%w%mw@ﬁwm%m
|

2. I & BIsHR WIS, UCTd, TV T4 AU & ded [Uiie $I §¢ far srar g1

3. 9IS, T4, U U4 fAUT™H & ded ulRAg S@nssii &t d¢ far srar g1

1. Only statements 1 & 2 are right. / A HY 1 T 2 TA B
2. Only statements 2 & 3 are right. / Had HY 2 T 3 T B
3. All the three statements are right. / FH i+ HU= T gl

4. All three statements are wrong. / I+ A YT ST

Correct Answer :-

o All three statements are wrong. /gt Y U 3 %I

60) For what value of 'k’ do the equations 4x — 2y = 3 and kx + y =5 represents two lines
intersecting at a unique point? /

%n:ﬂwm4x—2y= 3Td kx + y =5 ¥ & fa=iw fig W &f ufassdt Yarsit &1 g2+ & forg 'k’ &1 7 faen
?

k-2
4.

Correct Answer :-

ket 2






